					Chi-square distribution 
Use the calculator provided to solve the following problems.
· Suppose that [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?%25hkj%3Fpvs%3D1%3F%2Cpvs%3D]follows a chi-square distribution with [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?4]degrees of freedom. Compute [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?S%2B%25hkj%3Fpvs%3D1%3F%2Cpvs%3D%23%25of%236%2A]. Round your answer to at least three decimal places. 
· Suppose again that [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?%25hkj%3Fpvs%3D1%3F%2Cpvs%3D]follows a chi-square distribution with [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?4]degrees of freedom. Find [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?h]such that [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?S%2B%25hkj%3Fpvs%3D1%3F%2Cpvs%3D%23%25df%23h%2A%23%3E%233%2D2]. Round your answer to at least two decimal places. 
· Find the median of the chi-square distribution with [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?4]degrees of freedom. Round your answer to at least two decimal places. 
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